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SECOND MID TERM TEST -2024 .

*
Standard X| Reg.No.
MATHEMATICS
Time : 1.30 yrs Part - | | Marks : 50

l. **Choose the correct answer: :
1. Choose the one that does not apply among the following.

o2 WA a[L ey

wal 31 | o | '
2.1 [_2 J IS @ zero matrix, then the value of x ‘a) % b) ‘% c)3 dy-2

8x1=8

3 .
3. H’A+I=[4 1J,then (A+I)(A—I) isequatto‘ #

A Y R T T o

4. Ifa, B, y then Direction cosines cos2q +C0s%B + cosZy

a) 1 b) 2 )0 d) -2

5. If the points whose position vectors 10; 3j.12i-5] and aj+1 1j are collinear, then a
is equal to Aa) 6  b)3 c)5 48 '

6. Find |axb| where |a|<13, |5|=5 and 5.5-600 = '
Q) ASIIMLEEO A 454 e . d):25 5"

7. A vector makes equal to angle with the positive direction of the coordinate axes. Then
each angle is equal to '

a) cos'1(y3)} -~ b) cosf1(%) ' .C) 0»05'71( }/ Jg) ' d) 003_1(745)

: X _RX - ‘
a” -b ‘ :
8. ,';'_Tw = a)logab b) log(%). ©) loge) d) %
- : Part-1l ~ = S
Il. Answer any 6 questions. (Q.No0.16 is compulsory) : 6x2=12

4 2 : : '
9. If A =[_1 XJ and such that (A-2I) (A-31) = 0, find the value of x.
10. Define Diago‘nal matrix and Scalar matrix, |

b-1 2 3
11. [ :‘ 12 j} is singular matrix, find the value of b

12. Show that the points whose position vectors are 2] + 3] - 5k, 3i - j-2k and 67 5]+ 7k

are collinear. :

13 Find a unit vector along the direction of the vector si_sj + 4k
4. Find the area of triangle whose vertices»are A(1._0.0)' B(0,1,0) C(0,0,1 )',

5. Consider the function f(x)= ‘/I , x> 0. Does )'('i_'l’of(x) éxist?
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Part - (11 ;
i, Answer any § questions. (Q.No,23 Is compulenry) Srdwis
1 1
17. Prove that : [* ¥ z|=(x-y)(y-»)(z-x)
X2 y? 2

18, If E,B,é are three vectors such that g4 2b ¢ é =0 Bnd |G (=17, ”;l_.,;, |C|= 7, i the

angle-between g and | .
18. Toprove : If any two rows / columns of a determinant sre intsrchanged, then the determinan
changes sign but its absolute value remaings unaltered,

3 4 1]
20. By using Sarrus Rule, find [A] ; = 2 ; Z ’
21. To prove Section formula - Internal division, ,
22. Evaluate : )I(Jmo___xiz_:ﬁ_

23, Find the projection of Ap on cp where AB,C,D are the points (4,~2,0), (7,~5,1),
(-2,1,3), (0,2,5)

: Part - |V
V. Answaer all the qumstlcms.3 by Axs=15
24, a) Expressthe matrix A=~ j "§ 1| as the sum of symmelric and skew- symmetric
matrix, (OR) : 13 g

b) Compute all minors, cofactor of A and hence compute |A| If A= 43 ”: g , Also

check that |A| remains unaltered by expanding along any row or any column,
25, a) - To prove by using Factors theorem ; -

(q+r)?  p2 p?
|Al=| g2 r+p)? 2 |=2pgr +qer)
AL Gl e d A (OR)
r r (p+q)

b) Show that the vectors are coplanar : j-2]+ 3k, -21+3] -4k, -]+ 2k
26. a) Prove that the points whose position vectors 2] + 4]+ 3k, 4i+]4- gk and

101 - ] + Bk from a right angle triangle. (OR)
b) The medians of a triangleé are concurrent,

bbby
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